=

T &4 g2 A2

oo

@ ab+1)+(b+1) =

(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)?

@ F+dx+4-y>=(x+y+2)(x-y+2)

@ (x+2y)% - (3x—2y)% = —8x(x - 2y)

@ (x-3) +2(x-3) -

B

8= (x+1)(x-6)

® x-3=x 21 59
(x—3)2+2(x-3)-38

= X2 42X-8
X+4)(X-2)
(x-3+4)(x-3-2)
=(x+1)(x-5)




2.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




3. -y +4dyz- 42 Aoty
(x+ay+bz)(x—y+cz) 7FHAJT old a + b + ¢ &] FL-2?

©-1 @ ® 2 @ 3 ® 4

B

X2 —y? +dyz - 472 = x2 — (9% — dyz + 47?)
=x% = (y - 22)?
= (x+y—-2z)(x -y +22)

et a=1,b=-2,¢c=29B2 g+ b+ c=10°]|ch




@ a+b+2 @ a-b+6 ® a+b-6
@a+b+6 ® a-b+5

B

a+b=A= 54

A(A+1)-30=A42+A4-30
=(A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




= Al @ - 57 o] e Fefelh

1 1
= — = \/5—1,[7: =\/§+1
V2+1 V2-1

a’-b* = (a+b)(a-b)
=(V2-14+ V2+1)(V2-1-V2-1)
=2v2(-2) = -4V2

a




6. THg AolH A% A, B o] 3k Fatoler,
(x+A)(3x-3)=3x2+3x-B
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B

(F41) =322 - 3x + 3Ax - 34
=3x2+3x—B

~3+3A=3

L A=2

~34A=-3x2=-6=-B

"~ B=6




7. ol ax®-Tx+b 7t (2x-1) & (3x-2) = A52 7AW, ab 9
& o

® 4 @ 7 @2 o1 o1

(2x—1)(3x—2) = 6x% — Tx + 2
=ax>-Tx+b

La=06,b=2

Soab =12




3x* —Ax -5 7} x -5 2 WFo] Wojd o, A o] ghe F-5heiet,

& ax+b 2 St
3x2 —Ax—5 = (x-5)(ax + b)

= ax® + bx — bax — 5b
a=3,-5b=-5,b=1
b-5a=1-15=-14=-A,A=14




9.  THe 293 7L ArhalZe] Yo 7t 2,2 4 0x+9 & uf, o] AlrkalEe]

=o|=?
r—1
Ss~p+7-7
D 2x+1 @)2x+3 ® 2x+5
@ x+4 ® x+3

B ~

Akl ol i, Weol s e st

1 1
S = 5h(x—1+x+7)= 5h(2x+6):h(x+3)

2x2+9x+9=(2x+3)(x+3) = h(x+ 3)°| B2 h = 2x + 3
ot




10. —8-7a(a-2)+a*(a-2)*=(a+A)(a+B)(a+C)(a+D) L
g, A+B+C+D & Fotoiet

[
H -

| 2
> met: 4

od -

= at)?
= (at—8) (ar+ 1)

= (a2—2a—8) (a2—2a+1)
=(a-4)(a+2)(a-1)°
=(a-4)(a+2)(a-1)(a—-1)

S A+B+C+D=(-4)+2+(-1)+(-1)=-4

a
a




11, x* - 10x* +9 9] d=7F ofd 227

D x-1 @ x+3 ® x2-1
@x+9 ® x*-10x2+9

(x> -1)(x2=9) = (x + 1)(x = 1)(x + 3)(x = 3)




12, x2-9y? - 2x + 18y - 82 AFHF5}H?

@O (x=3y+2)(x+3y+4) (@)(x—3y+2)(x+3y—4)
® (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y-4)

® (x=3y+4)(x+3y-2)

B

x2—-9y? —2x + 18y -8
=x2-2x-9y? +18y -8
=x?—2x—(9y* - 18y + 8)
=x2-2x-(3y-2)(3y-4)
={x-(y-2)} {x+ (By-4)}
=(x=-3y+2)(x+3y-4)




13. xy=50°]1, ¥y +xy? +2(x+y) =42 & o, x? +y? o] 322

® 10 @ 15 ® 20 @26 ® 28

B

Py 4+ xy? +2(x +y) = xy(x +y) +2(x +)
= (x+y)(xy +2) = 42 of| 4]
xy=5°]E=& x4+ y=6 °|th
eyt =(x+y)?-2xy
=62-2x5
=36-10= 26
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@ 2(3x+2) + (2x—1) (3x+2)
O 2x(2x+1) - 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4

@ 2x2+7x+6

o

0z
m m

v v v vvyVvyvyy
0
L

0x
i

0%
i
@ O®© © O

B

2
e

@2Bx+2)+(2x-1)Bx+2) =(3x+2) (2x+ 1)
O 2x(2x+1)-3(1+2x) = (2x+ 1) (2x - 3)

® x+2)(x-1)-2(x+2)=(x+2)(x-3)
@®x2—dx+4=(x-2)?

@ 2x%+Tx+6=(2x+3) (x+2)




15. o2 5 x%? - 2%y - xy? + xy 9] AFE?

@x—l @ x+1 @ y+1 @ x+y ® x-y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)




